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1. Three cubes of metal, whose edges are 3
cm, 4 cm and 5 cm respectively are melted
to form a new cube. What is the total
surface area of the new cube?

èkkrq ds rhu ?ku] ftudh Hkqtk,¡ Øe'k% 3 lseh] 4
lseh vkSj 5 lseh gSa] dks fi?kykdj ,d u;k ?ku
cuk;k tkrk gSA u, ?ku dk dqy i`"Bh; {ks=kiQy D;k
gS\
(a) 216 cm2 (b) 56 cm2

(c) 36 cm2 (d) none of these
2. There is a cubical block of wood of side

2 cm. If the cylinder of the largest possible
volume is carved out from it. Find the
volume of the remaining wood.

2 lseh Hkqtk dk ydM+h dk ,d ?kukdkj CykWd gSA
;fn lcls cM+s laHko vk;ru dk flysaMj mlesa ls
fudkyk tkrk gSA 'ks"k ydM+h dk vk;ru Kkr dhft,A

(a)
7

12
 cm3 (b)

12

7
cm3

(c) 5
5

7
 cm3 (d) none of these

3. The cost of the paint is Rs.36.50 per kg.
if 1kg of paint covers 16sq.ft, how much
will it cost to paint outside of a cube
having 8 feet each side.

isaV dh dher 36-50 #i;s çfr fdyks gSA ;fn 1
fdyks isaV 16 oxZ iQqV dks ?ksjrk gS] rks 8 iQhV
Hkqtk okys ?ku ds lHkh Hkqtk ckgj ls isaV djus esa
fdruk [kpZ vk,xk\
(a) Rs.962 (b) Rs.672
(c) Rs.546 (d) Rs.876

4. How many cubes each of surface area 24
sq. dm can be made out of a metre cube,
without any wastage:

,d ehVj ?ku ls fcuk fdlh viO;; ds 24 oxZ
MslhehVj {ks=kiQy okys fdrus ?ku cuk, tk ldrs gSa%
(a) 75 (b) 250
(c) 125 (d) 62

5. The three co-terminus edges of a
rectangular solid are 36 cm, 75 cm and 80
cm respectively. Find the edge of a cube
which will be of the same capacity:

,d vk;rkdkj Bksl ds rhu lg&VfeZul fdukjs Øe'k%
36 lseh] 75 lseh vkSj 80 lseh gSaA ,d ?ku dk fdukjk
Kkr dhft, tks leku {kerk dk gksxk%
(a) 60 cm (b) 52 cm

(c) 46 cm (d) None of these

6. A cube of metal, each edge of which
measures 4 cm, weight 400 kg. What is the
length of each edge of a cube of the same
metal which weight 3200 kg?

/krq dk ,d ?ku] ftlds çR;sd fdukjs dh eki 4
lseh gS] dk otu 400 fdxzk gSA mlh /krq ds ?ku ds
çR;sd fdukjs dh yackbZ fdruh gS ftldk otu 3200
fdyksxzke gS\
(a) 64 cm (b) 8 cm

(c) 2 cm (d) None of these

7. 64 small cubes of 1 cm3 are to be arranged
in a cuboidal shape in such a way that the
surface area will be minimum. What is the
length of diagonal of the larger cuboid ?

1 lseh3 vkdkj ds 64 ?kuksa dks bl çdkj O;ofLFkr
fd;k x;k fd mu ls cus cM+s ?ku dk lEiw.kZ i`"Bh;
{ks=kiQy de ls de gksA ml cM+s ?ku dk fod.kZ D;k
gksxk \

(a) 8 2 cm. (b) 273 cm.

(c) 4 3 cm. (d) 4 cm.

8. 125 identical cubes are cut from a big cube
and all the smaller cubes are arranged in
a row to form a long cuboid. What is the
percentage increase in the total surface
area of the cuboid over the total surface
area of the cube?

,d cM+s ?ku ls 125 cjkcj vkdkj ds ?ku dkVs tkrs
gS vkSj mUgsa ,d ykbu esa j•dj ,d ?kukHk cuk fn;kA
bl çfØ;k ds dkj.k ?kukHk dk i`"B {ks=kiQy ?ku ds
lEiw.kZ i`"B {ks=kiQy dk fdruk çfr'kr c<+sxk \

(a)
1

234 %
3

(b)
2

234 %
3

(c) 117% (d) None of these

9. A cistern from inside is 12.5 m long, 8.5
m broad and 4 m high and is open at top.
Find the cost of cementing the inside of
a cistern at Rs.24 per sq. m:

vanj ls ,d dqaM 12-5 ehVj yack] 8-5 ehVj pkSM+k
vkSj 4 ehVj Åapk gS vkSj Åij ls [kqyk gSA 24
#i;s çfr oxZ ehVj dh nj ls ml Vadh ds vanj
lhesaV yxkus dh ykxr Kkr dhft,\
(a) Rs.6582 (b) Rs.8256

(c) Rs.7752 (d) Rs.8752

MENSURATION-3D /f=kfoeh; {ks=kfefr
(Practice Sheet With Solution)
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10. Three cubes each of edge 3 cm long are
placed together as shown in the adjoining
figure. Find the surface area of the cuboid
so formed :

3 lseh yacs fdukjs okys rhu ?kuks a dks ,d lkFk j[kk
x;k gS tSlk fd layXu fp=k esa fn[kk;k x;k gSA bl
çdkj cus ?kukHk dk i`"Bh; {ks=kiQy Kkr dhft,

3cm

3cm

3cm 3cm

3c
m

(a) 182 sq. cm (b) 162 sq. cm
(c) 126 sq. cm (d) none of these

11. Three cubes of equal volume are joined end
to end. Find the surface area of the
resulting cuboid if the diagonal of the cube
is 63 cm.

cjkcj vk;ru okys rhu ?kuksa dks fljs ls fljs lVkdj
vkil esa tksM+k tkrk gSA ;fn ?ku dk fod.kZ 63 lseh
gS] rks ifj.kkeh ?kukHk dk ì"Bh; {ks=kiQy Kkr dhft,A

SSC CGL 05/12/2022 (Shift- 04)

(a) 509 cm² (b) 504 cm²
(c) 516 cm² (d) 512 cm²

12. Four solid cubes, each of volume 1728 cm³,
are kept in two rows having two cubes in
each row. They form a rectangular solid with
square base. The total surface area (in cm²)
of the resulting solid is:

izR;sd 1728 lseh3 vk;ru okys pkj Bksl ?kuksa dks nks
iafDr;ksa esa j[kk tkrk gS vkSj izR;sd iafDr esa nks ?ku j[ks
tkrs gSaA muls oxkZdkj vk/kj okyk vk;rkdkj Bksl
curk gSA ifj.kkeh Bksl dk dqy i`"Bh; {ks=kiQy (lseh2

esa) Kkr djsaA
SSC MTS 18/10/2021

(a) 576 (b) 1152

(c) 2304 (d) 1440

13. The length of the side of a cube is 5.6 cm.
What is the volume of the largest sphere
that can be taken out of the cube?

,d ?ku dh Hkqtk dh yackbZ 5-6 ls-eh- gSA ?ku lss
ckgj fudkys tk ldus okys lcls cM+s xksys dk
vk;ru D;k gS\

SSC CGL 05/12/2022 (Shift- 01)

(a) 91.98 cm³ (b) 99.96 cm³

(c) 96.98 cm³ (d) 90.69 cm³

14. The length of the longest pole that can be
placed on the floor of a room is 12 m and
the length of longest pole that can be placed
in the room is 15 m. The height of the room
is :

,d dejs ds iQ'kZ ij j[ks tk ldus okys lcls yacs
[kaHks dh yackbZ 12 ehVj gS vkSj dejs esa j[ks tk
ldus okys lcls yacs [kaHks dh yackbZ 15 ehVj gSA
dejs dh Å¡pkbZ gS
(a) 3 m (b) 6 m

(c) 9 m (d) None of these
15. A rectangular block 6 cm × 12 cm × 15

cm is cut up into an exact number of equal
cubes. Find the least possible number of
cubes.

6 lseh × 12 lseh × 15 lseh ds ,d vk;rkdkj
CykWd dks cjkcj ?kuks a dh lVhd la[;k esa dkVk
tkrk gSA ?kuks a dh U;wure laHko la[;k Kkr dhft,
(a) 30 (b) 20
(c) 25 (d) 40

16. A hall is 15 m long and 12 m broad. If the
sum of the areas of the floor and the
ceiling is equal to the sum of the areas
of four walls, the volume of the hall is:

,d gkWy 15 ehVj yack vkSj 12 ehVj pkSM+k gSA
;fn iQ'kZ vkSj Nr ds {ks=kiQy dk ;ksx pkj nhokjks a
ds {ks=kiQy ds ;ksx ds cjkcj gS] rks gkWy dk vk;ru
gS
(a) 720 (b) 900
(c) 1200 (d) 1800

17. How many bricks each measuring 25cm
×  11.25cm × 6cm, will be needed to build
a wall 8m × 6m × 22.5m

,d 8 ehVj × 6 ehVj × 22.5 ehVj dk nhokj cukus
ds fy,  25 lseh × 11.25 lseh × 6 lseh eki okyh
fdruh bZaVksa dh vko';drk gksxh\
(a) 5600 (b) 600
(c) 6400 (d) 7200

18. A cistern of capacity 8000 litres measures
externally 3.3 m by 2.6 m by 1.1 m and
its walls are 5 cm thick. The thickness of
the bottom is:

8000 yhVj dh {kerk okyk ,d VSad ckgjh :i ls
3-3 ehVj × 2-6 ehVj × 1-1 ehVj eki dk gS vkSj
bldh nhokjsa 5 lseh eksVh gSaA uhps dh eksVkbZ Kkr
djsaA
(a) 90 cm (b) 1 dm
(c) 1 m (d) 1.1cm

19. The dimensions of an open box are 50 cm,
40 cm and 23 cm. Its thickness is 3 cm.
If 1 cubic cm of metal used in the box
weight 0.5 gms, find the weight of the box.

,d [kqys fMCcs dh foek,¡ 50 lseh] 40 lseh vkSj
23 lseh gSaA bldh eksVkbZ 3 lseh- gSA ;fn fMCcs esa
ç;qDr /krq ds 1 ?ku lseh dk Hkkj 0-5 xzke gS] rks
fMCcs dk Hkkj Kkr dhft,A
(a) 8.04 kg (b) 8.14 kg

(c) 8.24 kg (d) 9.04 kg
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20. How many cubes of 10cm edge can be put
in a cubical box of 1m edge

1 ehVj fdukjs okys ,d ?kukdkj fMCcs esa 10 lseh
fdukjs okys fdrus ?ku j[ks tk ldrs gSa\
(a) 1000 (b) 100

(c) 10 (d) 10000

21. Water flows into a tank 200 m × 150 m
through a rectangular pipe of 1.5m × 1.25
m at 20 kmph. In what time (in minutes)
will the water rise by 2 meters?

200 ehVj × 150 ehVj ds VSad esa 1-5 ehVj × 1-25
ehVj vk;rkdkj ikbZi ds ekè;e ls 20 fdeh çfr
?kaVs ds nj ls ikuh cgrk gSA fdrus le; esa (feuVksa
esa) ikuh 2 ehVj Åij mB tk,xk\
(a) 92 min (b) 93 min

(c) 95 min (d) 96 min

22. The external dimensions of a wooden box
closed at both ends are 24 cm, 16 cm and
10 cm respectively and thickness of the
wood is 5 mm. If the empty box weight
7.35 kg, find the weight of 1 cubic cm of
wood:

nksuksa fljksa ij can ,d ydM+h ds cDls dk ckgjh vk;ke
Øe'k% 24 lseh] 16 lseh vkSj 10 lseh gS vkSj ydM+h
dh eksVkbZ 5 feeh gSA ;fn •kyh fMCcs dk Hkkj 7-35
fdxzk gS] rks 1 ?ku lseh ydM+h dk Hkkj Kkr dhft,A
(a) 10 g (b) 12.5 g

(c) 27 g (d) 15 g

23. A cube of 11 cm edge is immersed
completely in a rectangular vessel
containing water. If the dimensions of base
are 15 cm and 12 cm. Find the rise in
water level of the vessel:

11 lseh fdukjs dk ,d ?ku ikuh ls Hkjs ,d vk;rkdkj
crZu esa iwjh rjg Mwck gqvk gSA ;fn vk/kj dh foek,¡
15 lseh vkSj 12 lseh gSaA crZu esa ty Lrj esa o`f¼
Kkr dhft,%
(a) 6.85 cm (b) 7 cm

(c) 7.31 cm (d) 7.39 cm

24. A cuboid of size 50cm. × 40cm. × 30cm. is
cut into 8 identical parts by 3 cuts. What
is the total surface area (in cm²) of all the
8 parts?

,d ?kukHk dk vkdkj 50 lseh × 40 lseh × 30 lseh
gS bls  3 dVksa }kjk 8 leku Hkkxksa esa dkVk tkrk gSA
lHkh 8 Hkkxksa dk dqy i`"Bh; {ks=kiQy (lseh2 esa) D;k
gS\
(a) 11750 (b) 14100

(c) 18800 (d) 23500

25. A cistern 6m. long and 4m. wide, contains
water up to a height of 1m. 25cm. The
total area of the wet surface is.

,d Vadh 6 ehVj yEch rFkk 4 ehVj  pkSM+h gS ftlesa
1 ehVj 25 lseh  Å¡pkbZ rd ikuh Hkjk gSA xhys Hkkx
dk dqy i`"Bh; {ks=kiQy gksxk&
(a) 55 m² (b) 53.5 m²
(c) 50 m² (d) 49 m²

26. A rectangular field is 40m. long and 14m.
broad. In one corner of it, a pit 12m. long,
6m. wide and 5m. deep has been dug out
and the earth taken out of it has been
evenly spread over the remaining part of
the field. Find the rise in level of the field.

,d vk;rkdkj •sr 40 ehVj yEck o 14 ehVj pkSM+k
gSA blds ,d fdukjs ij 12 ehVj yEck] 6 ehVj pkSM+k
o 5 ehVj xgjk xM~<+k •ksnk x;k o mlls fudyh
feêðh dks iwjs •sr esa iQSyk fn;kA ml feêðh ds dkj.k
•sr dk Lrj fdruk Åij mBsxk\
(a) 73.77 cm. (b) 72.12 cm.
(c) 70 cm. (d) 75 cm.

27. A field in the form of a rectangle having
length 20 m and breadth 25 m. There is a
square pit outside the field having
dimension 15 m × 15 m. This pit is to be
filled uniformly upto a height of 4 m with
the soil taken out by digging the
rectangular field. Find out the depth upto
which the rectangular field must be dug if
the soil is to fill the pit?

,d vk;rkdkj •sr ftldh yEckbZ 20 ehVj o pkSM+kbZ
25 ehVj gSA blds ckgj 15 × 15 ehVj dk ,d xM~<+k
gSA bl xM~<+s dks 4 ehVj rd Hkjus esa •sr ls ftruh
feêðh •ksnh xbZ mldh xgjkbZ crk,aA

(a)
9

m.
5

(b)
9

m.
2

(c)
9

m.
7

(d)
9

m.
4

28. A tank is in the form of a cuboid with
length 12m. If 18 kilolitre of water is
removed from it, the water level goes down
by 30cm. What is the width (in m) of the
tank?

?kukHk ds vkdkj okys ,d VSad dh yackbZ 12 ehVj gSA
;fn blls 18 fdyks yhVj ikuh fudky fy;k tkrk gS
rks bldk ty Lrj 30 lseh uhps pyk tkrk gSA VSad
dh pkSM+kbZ (ehVj esa) fdruh gS\
(a) 4.5 (b) 4
(c) 5 (d) 5.5

29. Water flows into a tank which is 200m long
and 150m wide, through a pipe of cross-
section 0.3m × 0.2m at 20 km/hour. Then
the time (in hours) required for the water
level in the tank to reach 8m

20 fdeh@?kaVk dh xfr ls 0.3m × 0.2m ØkWl&lsD'ku
ds ,d ikbi ds ekè;e ls ikuh 200 ehVj yacs vkSj
150 ehVj pkSM+s ,d VSad esa cgrk gSA VSad esa ikuh dk
Lrj 8 ehVj rd igqapus esa yxus okyk le; (?kaVksa
esa) gksxk
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(a) 50 (b) 120
(c) 150 (d) 200

30. The base of a rectangular reservoir is 15
m long × 12 m wide. In this water flows at
the rate of 16 m/s through a pipe whose
cross-section is 5 cm × 3 cm. To what
height will the water rise in the reservoir

in 25 minutes.

,d vk;rkdkj tyk'k; dk vk/kj 15 ehVj yack ×

12 ehVj pkSM+k gSA blesa ikuh ,d ikbi ds ekè;e ls
16 ehVj@lsdaM dh nj ls cgrk gS ftldk ØkWl&lsD'ku
5 lseh × 3 lseh gS 25 feuV esa tyk'k; esa ikuh
fdruh ÅapkbZ rd c<+ tk,xkA
(a) 0.2 m (b) 2 m

(c) 0.5 m (d) 0.02m
31. A rectangular block of length 20 cm,

breadth 15 cm and height 10 cm is cut up
into exact number of equal cubes. The least

possible number of cubes will be

yackbZ 20 lseh] pkSM+kbZ 15 lseh vkSj ÅapkbZ 10 lseh
ds vk;rkdkj CykWd dks cjkcj ?kuksa dh lVhd la[;k
esa dkV fn;k tkrk gSA ?kuksa dh de ls de laHko
la[;k gksxh
(a) 12 (b) 16

(c) 20 (d) 24
32. The liquid in a container is sufficient to

paint an area of 11.28 m². How many boxes
of dimension 30 cm × 25 cm × 12 cm can
be painted with the liquid in this container.

,d crZu esa 11-28 eh2 {ks=kiQy dks jaxus ds fy, i;kZIr
rjy gSA foekvksa 30 lseh × 25 lseh × 12 lseh ds fdrus
cDls bl crZu ds rjy }kjk jaxs tk ldrs gSa\

SSC CPO 16/03/2019 (Shift-01)

(a) 40 (b) 24

(c) 32 (d) 12

33. The ratio between curved surface area and
total surface area of cylinder is 2 : 3. If
the total surface area be 924 cm2, find the
volume of the cylinder :

csyu ds oØ i`"Bh; {ks=kiQy vkSj dqy i`"Bh; {ks=kiQy
ds chp dk vuqikr 2 % 3 gSA ;fn dqy i`"Bh;
{ks=kiQy 924 lseh2 gS] rks csyu dk vk;ru Kkr
dhft,A
(a) 2156 cm3 (b) 1256 cm3

(c) 1265 cm3 (d) none of these

34. The radii of two cylinders are in the ratio
of 3 : 5 and their heights are in the ratio
4: 3. The ratio of their volumes is

nks csyuksa dh f=kT;k,¡ 3 % 5 ds vuqikr esa gSa vkSj
mudh Å¡pkbZ 4 % 3 ds vuqikr esa gSA muds vk;ruksa
dk vuqikr gS
(a) 12 : 25 (b) 13 : 25

(c) 4 : 5 (d) 5 : 4

35. A conical vessel has a capacity of 15 L of
milk. Its height is 50 cm and base radius
is 25 cm. How much milk can be contained
in a vessel in cylindrical form having the
same dimensions as that of the cone?

,d 'kaDokdkj crZu esa 15 yhVj nwèk dh {kerk gksrh
gSA bldh ÅapkbZ 50 lseh vkSj vkèkkj f=kT;k 25 lseh
gSA 'kadq ds leku vk;ke okys csyukdkj crZu esa
fdruk nwèk lek ldrk gS\
(a) 15 L (b) 30 L

(c) 45 L (d) none of these

36. A cylindrical rod of iron, whose height is
equal to its radius, is melted and cast into
spherical balls whose radius is half the
radius of the rod. Find the number of balls.

yksgs dh ,d csyukdkj NM+] ftldh Å¡pkbZ mldh
f=kT;k ds cjkcj gS] dks fi?kykdj xksykdkj xsanks a esa
<kyk tkrk gS] ftldh f=kT;k] NM+ dh f=kT;k dh
vkèkh gksrh gSA xsanks a dh la[;k Kkr dhft,
(a) 3 (b) 4

(c) 5 (d) 6

37. If the radius of the cylinder is increased
by 25%, then by how much percent the
height must be reduced, so that the
volume of the cylinder remains same?

;fn csyu dh f=kT;k 25» c<+k nh tkrh gS] rks mldh
ÅapkbZ fdrus çfr'kr de dh tkuh pkfg,] rkfd
csyu dk vk;ru leku jgs\
(a) 36 (b) 56

(c) 64 (d) 46

38. The radius of base of a solid cylinder is 7

cm and its height is 21 cm. It is melted

and converted into small bullets. Each

bullet is of same size. Each bullet consisted

of two parts . A cylinder and a hemisphere

on one of its base. The total height of

bullet is 3.5 cm and radius of base is 2.1

cm. Approximately how many complete

bullets can be obtained?

,d Bksl csyu ds vkèkkj dh f=kT;k 7 lseh gS vkSj
bldh Å¡pkbZ 21 lseh gSA bls fi?kykdj NksVh&NksVh
xksfy;ksa esa cnyk tkrk gSA çR;sd xksyh ,d gh vkdkj
dh gksrh gSA çR;sd xksyh esa nks Hkkx gksrs gSa] ,d
csyu vkSj mlds ,d vkèkkj ij ,d vèkZxksykA xksyh
dh dqy ÅapkbZ 3-5 lseh vkSj vkèkkj dh f=kT;k 2-1
lseh gSA yxHkx fdruh iw.kZ xksfy;ka çkIr dh tk
ldrh gSa\

(a) 83 (b) 89

(c) 74 (d) 79
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39. A cylindrical vessel of radius 6 cm is
partially filled with water. By how much
will the water level rise if a sphere of radius
5 cm is completely immersed in this
water?

(Take  = 
22

7
)

f=kT;k 6 lseh dk ,d csyukdkj crZu vkaf'kd :i
ls ikuh ls Hkjk gqvk gSA ;fn 5 lseh f=kT;k dk ,d
xksyk bl ikuh esa iwjh rjg Mqcks fn;k tk, rks ikuh

dk Lrj fdruk c<+ tk,xk\ ( = 
22

7
)

(a) 6.67 cm (b) 5.56 cm

(c) 6.94 cm (d) 4.63 cm

40. A solid cylinder has radius of base 14 cm
and height 15 cm. 4 identical cylinders
are cut from each base as shown in the
given figure. Height of small cylinder is
5 cm. What is the total surface area of the
remaining part?

,d Bksl csyu ds vkèkkj dh f=kT;k 14 lseh vkSj
ÅapkbZ 15 lseh gSA çR;sd vk/kj ls 4 leku csyu
dkVs x, gSa tSlk fd fp=k esa fn[kk;k x;k gSA NksVs
csyu dh Å¡pkbZ 5 lseh- 'ks"k Hkkx dk dqy i`"Bh;
{ks=kiQy fdruk gS\

(a) 3740 (b) 3432

(c) 3124 (d) 2816

41. A hollow cylindrical tube open at both ends
is made of iron 2 cm thick. If the external
diameter be 50 cm and the length of the
tube is 210 cm, find the volume of iron in
it.

nksuksa fljksa ij •qyh ,d •ks•yh csyukdkj uyh 2
lseh eksVh yksgs dh cuh gSA ;fn ckgjh O;kl 50 lseh
rFkk uyh dh yEckbZ 210 lseh gks] rks mlesa yksgs dk
vk;ru Kkr dhft,A
(a) 63360 cm³ (b) 63,000

(c) 63,500 (d) 64,000

42. A well with 14 m inside diameter is dugout
15 m deep. The earth taken out of it has
been evenly spread all around it to a width
of 21 m to form an embankment. What is
the height of the embankment?

14 ehVj vkarfjd O;kl okyk ,d dqvka 15 ehVj xgjk
•ksnk x;k gSA blesa ls fudkyh xbZ feêðh dks blds
pkjksa vksj leku :i ls 21 ehVj dh pkSM+kbZ esa ,d
rVca/ cukus ds fy, iQSyk;k x;k gSA pcwrjk dh ÅapkbZ
fdruh gS\
(a) 1 m (b) 2 m
(c) 3 m (d) 4 m

43. If the radius of cylinder is doubled, but
height is reduced by 50%. What is the
percentage change in volume?

;fn csyu dh f=kT;k nksxquh dj nh tkrh gS] ysfdu ÅapkbZ
50» de dj nh tkrh gSA vk;ru esa çfr'kr ifjorZu
D;k gS\
(a) 50% (b) 25%
(c) 200% (d) 100%

44. How many cubic metres of water is filled
in a pipe which is 3500 m long and 0.08
m in diameter?

,d ikbi tks 3500 ehVj yack vkSj 0-08 ehVj O;kl
dk gS] mlesa fdrus ?ku ehVj ikuh Hkj ldrk gS\
(a) 17.5 m³ (b) 17.6 m³
(c) 21 m³ (d) 35 m³

45. A cube of metal, whose edge is 10 cm, is
wholly immersed in water contained in
cylindrical tube whose diameter is 20 cm.
By how much will the water level rise in
the tube?

/krq dk ,d ?ku] ftldh Hkqtk 10 lseh gS] 20 lseh
O;kl okyh ,d csyukdkj uyh esa j•s ikuh esa iwjh
rjg Mwck gqvk gSA uyh esa ikuh dk Lrj fdruk c<+
tk,xk\

(a) 3.3 cm (b)
3

6
11

 cm

(c)
2

3
11

 cm (d) None of these

46. The amount of concrete required to build a
cylindrical pillar whose base has a perimeter
8.8 m and whose curved surface area is 17.6
m²:

,d csyukdkj LraHk ds fuekZ.k ds fy, vko';d daØhV
dh ek=kk Kkr djsa ftlds vk/kj dh ifjf/ 8-8 ehVj
gS vkSj ftlds oØ i`"B dk {ks=kiQy 17-6 oxZ ehVj
gS%
(a) 12.32 m³ (b) 12.23 m³

(c) 9.235 m³ (d) 8.88 m³
47. The radius of an iron rod decreased to one-

fourth. If its volume remains constant, the
length will become:

,d yksgs dh NM+ dh f=kT;k ?kVdj ,d pkSFkkbZ jg
tkrh gSA ;fn bldk vk;ru fLFkj jgrk gS] rks yackbZ
gks tk,xh%
(a) 2 times (b) 8 times

(c) 4 times (d) 16 times
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48. The ratio of heights of two cylinders is 3 :
2 and the ratio of their radii is 6 : 7. What
is the ratio of their curved surface areas?

nks csyuksa dh ÅapkbZ dk vuqikr 3 % 2 gS vkSj mudh
f=kT;kvksa dk vuqikr 6 % 7 gSA muds oØ ì"Bh; {ks=kiQyksa
dk vuqikr D;k gS\
(a) 9 : 7 (b) 1 : 1

(c) 7 : 9 (d) 7 : 4

49. The curved surface of a cylinder is 1000
sq cm. A wire of diameter 5mm is wound
around it, so as to cover it completely.
What is the length of the wire used ?

,d csyu dk oØ i`"B dk {ks=kiQy 1000 lseh2 gSA 5
feyh ehVj O;kl okyk rkj bldks ?ksjs gq, gSa] rkfd
iw.kZ :i ls <+d ldsA ml rkj dh yackbZ Kkr djsaA
(a) 22 m (b) 20 m

(c) 18 m (d) None of these

50. The outer and inner diameters of a circular
pipe are 6 cm and 4 cm, respectively. If its
length is 10 cm, then what is the total
surface area in sq. cm. ?

,d csyukdkj ikbi ds ckÞ; vkSj var% O;kl Øe'k%
6 lseh vkSj 4 lseh gSA ;fn mldh yackbZ 10 lseh gSA
rc mldk dqy ì"B dk {ks=kiQy (lseh2 esa) Kkr djsaA
(a) 35  (b) 110 

(c) 510  (d) None of these

51. A cylindrical tank of diameter 35 cm is full
of water. If 11 litres of water is drawn off
the water level in the tank will drop by :

(Take  = 22/7)

,d 35 lseh O;kl okyk csyukdkj Vadh ikuh ls Hkjh
gSA vxj mlesa ls 11 yhVj ikuh fudky fy;k tk, rks
ikuh ds Lrj esa D;k fxjkoV vk,xh \

(a)
1

10
2

 cm (b)
6

12
7

 cm

(c) 14 cm (d)
3

11
7

 cm

52. A solid cylinder has total surface area of

462 sq. cm. its curved surface area is 
1

3
rd

of the total surface area. Then the radius
of the cylinder is

,d csyu dk dqy i`"B {ks=kiQy 462 lseh2 gSA bldk
oØ i`"B dk {ks=kiQy blds lEiw.kZ i`"Bh; {ks=kiQy dk
1

3
 xquk gSA csyu dh f=kT;k Kkr djsaA

(a) 7 cm (b) 3.5 cm

(c) 9 cm (d) 11 cm

53. The barrel of a fountain-pen, cylindrical in
shape, is 7 cm long and 5 mm is diameter.
A full barrel of ink in the pen will be used
up on writing 330 words on an average.
How many words would be written by a

bottle of ink containing 
1

5
 of a litre ?

,d csyukdkj vkÑfr dh iQkmaVsu isu dh cksry 7
lseh yEch gS rFkk O;kl 5 ehyh ehVj gSA L;kgh dh
,d cksry vkSlr 330 'kCn fy•us esa •pZ gks tkrh

gSA ,d cksry ftlesa 1 yhVj dk 
1

5
Hkkx dks •pZ

djus ds fy, fdrus 'kCnksa dks fy•uk gksxk\
(a) 48000 (b) 42000

(a) 56000 (b) 28000

54. Two cylindrical vessels with radii 15 cm
and 10 cm and heights 35 cm and 15 cm
respectively are filled with water. If this
water is poured into a cylindrical vessel 15
cm in height, then the radius of the vessel
is :

nks csyukdkj Vadh ftudh f=kT;k Øe'k% 15 lseh vkSj
10 lseh vkSj Å¡pkbZ Øe'k% 35 lseh vkSj 15 lseh gS]
ikuh ls Hkjh gqbZ gSA ;fn ;g ty ,d nwljh Vadh esa
mM+syk tkrk gS ftldh Å¡pkbZ 15 lseh gS rks Vadh dh
f=kT;k D;k gksxh \
(a) 25 cm (b) 20 cm

(c) 17.5 cm (d) 18 cm

55. The sum of the curved surface area and
total surface area of a solid cylinder is 2068
cm2. If radius of its base is 7 cm, then what
is the volume of this cylinder?

,d Bksl csyu ds oØ i`"Bh; {ks=kiQy rFkk laiw.kZ
i`"Bh; {ks=kiQy dk ;ksx 2068 lseh2  gSA ;fn blds
vk/kj dh f=kT;k 7 lseh  gks] rks bl csyu dk vk;ru
D;k gksxk\
(a) 2480 cm³ (b) 2760 cm³

(c) 3080 cm³ (d) 2060 cm³

56. The height of a solid cylinder is 35 cm. The
circumference of its base is 37 cm more
than the radius. What will be the volume of
this cylinder?

,d Bksl csyu dh Å¡pkbZ 35 lseh gSA blds vk/kj dh
ifjf/ bldh f=kT;k ls 37 lseh vf/d gSA bl csyu dk
vk;ru D;k gksxk\

SSC CGL MAINS (08/08/2022)

(a) 4420 cm³ (b) 4850 cm³

(c) 4740 cm³ (d) 5390 cm³

57. A 15 m deep well with radius 2.8 m is dug
and the earth taken out from it is spread
evenly to form a platform of breadth 8 m
and height 1.5 m. What will be the length
of the platform?

2-8 ehVj f=kT;k okyk] ,d 15 ehVj xgjk dqvka [kksnk
tkrk gS blls fudyh feV~Vh dks cjkcj djds 8 ehVj
pkSM+k vkSj 1-5 ehVj Åapk ,d pcwrjk cuk;k tkrk gS
pcwrjs dh yackbZ D;k gS\

 
  

22
=

7

(a) 28.8 m (b) 30.8 m

(c) 28.4 m (d) 30.2 m
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58. A cylinder can whose base is horizontal and

is of internal radius 3.5 cm contains

sufficient water, so that when a solid

sphere is placed inside it. Water just covers

the sphere. The sphere fits in the can

exactly. The depth of water in can before

the sphere was put)

,d csyu ftldk vkrafjd f=kT;k 3-5 lseh gS] bl
csyu ds vanj bruk ikuh Hkjk gqvk gS] fd tc blds
vanj ,d xksyk Mkyk tkrk gSa rks ;g xksys dks iw.kZr%
Mqcks nsrk gS] xksys Mwcus ls igys ikuh dh xgjkbZ D;k
Fkh \

(a)
25

3
(b)

17

3

(c)
7

3
(d)

14

3

59. The radius and height of a right circular

cone are in the ratio of 5 : 12. If its volume

is 314
2

7
 m3, its Slant height is :

,d yEc o`Ùkh; 'kadq dh f=kT;k vkSj ÅapkbZ 5 % 12

ds vuqikr esa gSA ;fn bldk vk;ru 314
2

7
 eh3

gS] rks bldh frjNh ÅapkbZ gS
(a) 26 m (b) 19.5 m

(c) 13 m (d) none of them

60. How many metres of cloth 10 m wide will
be required to make a conical tent with
base radius of 14 m and height is 48 m?

14 ehVj ds vkèkkj dh f=kT;k vkSj 48 ehVj dh
Å¡pkbZ okys ,d 'kaDokdkj rEcw dks cukus ds fy,
10 ehVj pkSM+s vkSj fdrus ehVj yacs diM+s dh
vko';drk gksxh\
(a) 110 m (b) 55 m

(c) 77 m (d) 220 m

61. From a circular sheet of paper of radius
25 cm, a sector area 4% is removed. If the
remaining part is used to make a conical
surface, then the ratio of the radius and
height of the cone is :

25 lseh f=kT;k okys dkxt dh ,d o`Ùkkdkj 'khV
ls] ,d f=kT;[kaM {ks=kiQy 4» gVk fn;k tkrk gSA
;fn 'ks"k Hkkx dk mi;ksx 'kaDokdkj lrg cukus ds
fy, fd;k tkrk gS] rks 'kadq dh f=kT;k vkSj ÅapkbZ
dk vuqikr gS
(a) 16 : 25 (b) 9 : 25

(c) 7 : 12 (d) 24 : 7

62. A conical tent has 60° angle at the vertex.
The ratio of its radius and slant height is
:

,d 'kaDokdkj racw ds 'kh"kZ ij 60° dk dks.k gSA
bldh f=kT;k vkSj frjNh ÅapkbZ dk vuqikr gS
(a) 3 : 2

(b) 1 : 2

(c) 1 : 3

(d) can't be determined

63. Water flows at the rate of 5 m per min
from a cylindrical pipe 8 mm in diameter.
How long will it take to fill up a conical
vessel whose radius is 12 cm and depth
35 cm?

8 feeh O;kl okys ,d csyukdkj ikbi ls ikuh 5
ehVj çfr feuV dh nj ls cgrk gSA ,d 'kaDokdkj
crZu ftldh f=kT;k 12 lseh vkSj xgjkbZ 35 lseh
gS] dks Hkjus esa fdruk le; yxsxk\
(a) 315 s (b) 365 s

(c) 5 min (d) none of these

64. A solid cone of height 36 cm and radius
of base 9 cm is melted to form a solid
cylinder of radius 9 cm and height 9 cm.
What percent of material is wasted in this
process?

36 lseh ÅapkbZ vkSj 9 lseh vkèkkj f=kT;k okys ,d
Bksl 'kadq dks fi?kykdj 9 lseh f=kT;k vkSj 9 lseh
ÅapkbZ dk ,d Bksl csyu cuk;k tkrk gSA bl çfØ;k
esa fdrus çfr'kr lkexzh cckZn gksrh gS\
(a) 5 (b) 25

(c) 10 (d) 15

65. Right triangle with sides 3 cm, 4 cm and
5 cm is rotated with the side of 3 cm to
form a cone. The volume of the cone so
formed is:

3 lseh] 4 lseh vkSj 5 lseh Hkqtkvksa okys ledks.k
f=kHkqt dks 3 lseh dh Hkqtk ls ?kqekdj ,d 'kadq
cuk;k tkrk gSA bl çdkj cus 'kadq dk vk;ru gS
(a) 12  cub.cm (b) 15  cub.cm

(c) 16  cub.cm (d) 20  cub.cm

66. An inverted conical shaped vessel is filled
with water to its brim. The height of the
vessel is 8 cm and radius of the open end
is 5 cm. When a few solid spherical metallic

balls each of radius 
1

2
 cm are dropped in

the vessel , 25% water is overflowed. The
number of balls is:

,d mYVs 'kaDokdkj vkdkj dk crZu ikuh ls Hkjk
gqvk gSA crZu dh ÅapkbZ 8 lseh vkSj [kqys fljs dh

f=kT;k 5 lseh gSA tc 
1

2
 lseh f=kT;k dh dqN Bksl

xksykdkj èkkfRod xsanks a dks crZu esa fxjk;k tkrk gS]
rks 25» ikuh cg tkrk gSA xsanks a dh la[;k gS
(a) 100 (b) 400

(c) 200 (d) 150
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67. A right circular cone is cut parallel to its

base at 
1

rd
3

 of its height from the base

what is the ratio of the volume of the
smaller cone formed to that of the frustum
formed?

,d yac òÙkh; 'kadq dks mlds vkèkkj ds lekUrj vkèkkj

ls mldh 
1

3
oh Å¡pkbZ ij dkVk tkrk gS] cus NksVs 'kadq

ds vk;ru dk fNUud ds vk;ru ls vuqikr D;k gS\
(a) 8 : 27 (b) 19 : 27
(c) 11 : 27 (d) 8 : 19

68. The base radius and height of a cone are
6 cm and 36 cm respectively. If a cone
is cut parallel to its base at the height of
the center of the base. If the volume of
this frustum is 264 cm3. Find the radius
of the smaller cone?

'kadq dk vkèkkj f=kT;k vkSj ÅapkbZ Øe'k% 6 lseh
vkSj 36 lseh gSA ;fn 'kadq dks vkèkkj ls h dh
ÅapkbZ ij mlds vkèkkj ds lekukarj dkVk tkrk gSA
;fn bl fNUud dk vk;ru 264 lseh3 gSA NksVs 'kadq
dh f=kT;k Kkr dhft;s\
(a) (104)1/3 cm (b) (104)1/2 cm
(c) 5 cm (d) (174)1/3 cm

69. A conical vessel (solid) is made of iron.

Its base radius is 7 cm and height is 15

cm. If the weight of the iron per cubic

centimetre is 15 g, what is the weight of

the vessel?

,d 'kaDokdkj ik=k (Bksl) yksgs dk cuk gSA blds
vk/kj dh f=kT;k 7 cm vkSj Å¡pkbZ 15 cm gSA
;fn yksgs dk Hkkj izfr ?ku lsaVhehVj 15 g gS] rks
ik=k dk Hkkj Kkr dhft,A

SSC CGL 09/12/2022 (Shift- 02)

(a) 13.55 kg (b) 12.55 kg

(c) 14.55 kg (d) 11.55 kg

70. Find the area of the iron sheet required to
prepare a cone 20 cm high with base radius
21 cm.

21 lseh vk/kj f=kT;k okys 20 lseh Å¡ps ,d 'kadq dks
cukus ds fy, vko';d yksgs dh pknj dk {ks=kiQy
Kkr dhft,A
(a) 3300 cm² (b) 3250 cm²

(c) 3400 cm² (d) 3350 cm²

71. A solid metallic cylinder of base radius 3
cm and  height 5 cm is melted to make n
solid cones of height 1 cm and base radius
1 mm. Find the value of n.

vk/kj f=kT;k 3 lseh vkSj ÅapkbZ 5 lseh okys ,d Bksl
/krq ds csyu dks fi?kykdj ÅapkbZ 1 lseh vkSj vk/kj
f=kT;k 1 feeh okys n Bksl 'kadq cuk, tkrs gSaA n dk
eku Kkr dhft,A
(a) 15,000 (b) 14,000

(c) 13,500 (d) 14,500

72. The height of a cone is 30 cm. A small cone
is cut off at the top by a plane parallel to

the base. If its volume be 
1

27
 of the

volume of the given cone, at what height
above the base is the section made?

,d 'kadq dh Å¡pkbZ 30 lseh gSA vk/kj ds lekukarj
,d ry }kjk ,d NksVk 'kadq 'kh"kZ ij dkVk tkrk gSA

;fn bldk vk;ru fn, x, 'kadq ds vk;ru dk 
1

27
gS] rks vk/kj ds Åij fdl Å¡pkbZ ij •aM cuk;k x;k
gS\
(a) 20 cm (b) 18 cm

(c) 27 cm (d) 15 cm

73. A tent is in the form of right circular cone
10.5 m high, the diameter of the base
being 13 m. If 8 men are in the tent, find
the average number of cubic metres of air
space per man:

,d racw 10-5 ehVj Åaps yEc o`Ùkh; 'kadq ds :i esa
gS] ftlds vk/kj dk O;kl 13 ehVj gSA ;fn 8 vkneh
racw esa gSa] rks çfr O;fÙkQ vkSlr ?ku ehVj ok;q LFkku
Kkr dhft,%

(a)
3

32
58

(b) 59.75

(c)
9

36
13

(d)
3

58
32

74. A concial vessel whose internal radius is 10
cm and height 72 cm is full of water. If this
water is poured into a cylindrical vessel
with internal radius 30 cm, the height of
the water level rises in it is:

,d 'kaDokdkj crZu ftldh vkarfjd f=kT;k 10 lseh
vkSj ÅapkbZ 72 lseh gS] ikuh ls Hkjk gSA ;fn bl ikuh
dks 30 lseh vkarfjd f=kT;k okys ,d csyukdkj ik=k
esa Mkyk tk,] rks blesa ty Lrj dh Å¡pkbZ fdruh c<+
tkrh gS\

(a)
2

2
3

 cm (b)
2

3
3

 cm

(c)
2

5
3

 cm (d) None of these

75. The volume of a right circular cone is 1232
cm3 and its vertical height is 24 cm. Its
curved surface area is.

,d yac o`Ùkh; 'kadq dk vk;ru 1232 lseh3 gS rFkk
mldh Å¡pkbZ 24 lseh gSA 'kadq dk oØ i`"B {ks=kiQy
Kkr djsaA
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(a) 154 cm² (b) 550 cm²

(c) 604 cm² (d) 704 cm²

76. A sector is formed by opening out a cone
of base radius 8 cm and height 6 cm. The
radius of the sector is (in cm.)

,d 8 cm. vk/kj f=kT;k rFkk 6 cm. Å¡pkbZ okys
'kadq dks •ksydj ,d f=kT;•aM cuk;k tkrk gSA ml
f=kT;•aM dh f=kT;k crk,¡A
(a) 4 (b) 8

(c) 10 (d) 6

77. A sector of circle of radius 3 cm has an
angle of 120°. If it is moulded into a cone,
find the volume of the cone.

,d o`Ùk•aM ftldh f=kT;k 3 lseh& vkSj dks.k 120°

gS] dks ,d 'kadq ds :i esa cnyk tkrk gS] rks 'kadq
dk vk;ru Kkr djksA

(a) cm³
3


(b)

2 2
cm³

3



(c)
2 3

cm³


(d)
3

cm³


78. A plane divides a cone into two parts of
equal volume. If the plane is parallel to the
base, then the ratio in which the height of
the cone is divided, is-

,d ry 'kadq dks nks cjkcj vk;ruksa esa ck¡Vrk gS ;fn
ry vk/kj ds lekukarj gS] rks Å¡pkbZ dk vuqikr D;k
gksxk tks 'kadq dks nks Hkkxksa esa ck¡Vrh gSA

(a) 1 : 2 (b) 31 : 2 – 1

(c) 31 : 2 (d) 31 : 2 1

79. A solid cone of height 8 cm and base radius

6 cm is melted and recast into identical

cones, each of height 2 cm and radius 1

cm. What is the number of cones formed

?

,d 6 lseh f=kT;k rFkk 8 lseh Å¡pkbZ okys yac o`Ùkh;
'kadq dks fi?kykdj 2 lseh& Å¡pkbZ rFkk 1 lseh f=kT;k
okys u, 'kadqvksa esa cny fn;k tkrk gSA u, 'kadqvksa
dh la[;k Kkr djsaA
(a) 36 (b) 72

(c) 144 (d) 180

80. The radii of the circular end of a conical
bucket are 14 cm and 6 cm, whose height
is 6 cm, find the total surface area of
bucket.

,d 'kaDokdkj fNUud ckYVh ftldh Å¡pkbZ 6 lseh gS
vkSj f=kT;k,¡ 14 lseh rFkk 6 lseh gSaA ckYVh dk dqy
i`"Bh; {ks=kiQy Kkr djks&

(a) 432  (b) 603 
(c) 433  (d) 539 

81. The radius of the base of a conical tent is

16 metre. If 
3

427
7

 sq. metre canvas is

required to construct the tent, the slant
height of the tent is :

,d 'kaDokdkj VSaV dh f=kT;k 16 ehVj gSA vxj VSaV

dk s cuku s ds fy, 
3

427
7

 ehVj2 dSuokl dh

vko';drk gksxh rks VSaV dh fr;Zd Å¡pkbZ Kkr djsaA
(a) 17 metre (b) 15 metre
(c) 19 metre (d) 8.5 metre

82. A cardboard sheet in the form of a circular
sector of radius 30 cm and central angle
144° is folded to make a cone. What is the
radius of the cone ?

,d 144º dsaæh; dks.k rFkk 30 lseh f=kT;k okyk òÙkkdkj
xÙkk gSA mls eksM+dj cuk, x, 'kadq dh f=kT;k Kkr
djsaA
(a) 12 cm (b) 18 cm
(c) 21 cm (d) None of these

83. The height of a solid cone is 20 cm. A small
cone is cut off from the top of it such that
base of the cone cut off and the base of a
given cone are parallel to each other. If the
volume of the cone cut and the volume of
the original cone are in the ratio of 1 : 8,
find the height of the frustum.

,d Bksl 'kadq dh Å¡pkbZ 20 lseh gSA bls vk/kj ds
lekUrj dkV dj ,d NksVk vU; 'kadq curk gSA ;fn
NksVs 'kadq rFkk ml Bksl 'kadq ds vk;ru dk vuqikr 1
% 8 gks rks fNUud dh Å¡pkbZ Kkr djks&
(a) 6 cm (b) 8 cm
(c) 10 cm (d) 12 cm

84. The height of a cone is 40 cm. If a small
cone is cut off at the top by a plane parallel
to the base of the cone, the volume of the

smaller con is 
1

64
 the volume of the larger

con. What is the height of the frustum

,d 'kadq dh Å¡pkbZ 40 lseh gSA ;fn 'kadq ds vk/kj
ds lekukarj ,d lery }kjk 'kh"kZ ij ,d NksVk 'kadq
dkVk tkrk gS] rks NksVs 'kadq dk vk;ru cM+s 'kadq ds

vk;ru dk 
1

64
 gSA fNUud dh Å¡pkbZ fdruh gS

CRPF HCM 23/02/2023 (Shift - 03)

(a) 5 (b) 15
(c) 10 (d) 30

85. Volume of a cone whose radius of base and
height are r and h respectively, is 400 cm3.
What will be the volume of a cone whose
radius of base and height are 2r cm and h
cm respectively?

,d 'kadq] ftlds vk/kj dh f=kT;k rFkk Å¡pkbZ Øe'k% r
rFkk h gS] dk vk;ru 400 lseh3 gSA ,d 'kadq] ftlds
vk/kj dh f=kT;k rFkk Å¡pkbZ Øe'k% 2r lseh rFkk h
lseh gS] dk vk;ru D;k gksxk\
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SSC CGL MAINS (08/08/2022)

(a) 100 cm³ (b) 1200 cm³

(c) 1600 cm³ (d) 800 cm³

86. If the curved surface area of a right circular
cone is 10010 sq cm and its slant height
is 91 cm, find its total surface area.

;fn ,d yEc o`Ùkh; 'kadq dk oØ i`"Bh; {ks=kiQy
10010 oxZ lseh gS vkSj bldh frjNh Å¡pkbZ 91
lseh gS] rks bldk dqy i`"Bh; {ks=kiQy Kkr dhft,A

(a) 27720 sq cm (b) 4620 sq cm

(c) 6930 sq cm (d) 13860 sq cm

87. A spherical ball of lead 6 cm in radius is
melted and recast into three spherical
balls. The radii of two of these balls are
3 cm and 4 cm. What is the radius of the
third sphere?

6 lseh f=kT;k dh lhls dh ,d xksykdkj xsan dks fi?kykdj
rhu xksykdkj xsanksa esa cnyk tkrk gSA buesa ls nks xsanksa
dh f=kT;k,¡ 3 lseh vkSj 4 lseh gSaA rhljs xksys dh f=kT;k
D;k gS\

(a) 4.5 cm (b) 5 cm

(c) 6 cm (d) 7 cm

88. The hemispherical bowl of internal radius
6 cm contains alcohol. This alcohol is to
be filled into cylindrical shaped small
bottles of diameter 6 cm and height 1 cm.
How many bottles will be needed to empty
the bowl?

6 lseh vkarfjd f=kT;k okys vèkZxksyh; dVksjs esa vYdksgy
gSA bl 'kjkc dks 6 lsaVhehVj O;kl vkSj 1 lsaVhehVj
ÅapkbZ okyh csyukdkj vkdkj dh NksVh cksryksa esa
Hkjuk gSA bl dVksjs dks [kkyh djus ds fy, fdruh
cksryksa dh vko';drk gksxh
(a) 36 (b) 27

(c) 16 (d) 4

89. A hemispherical tank full of water is

emptied by a pipe at the rate of 7.7 m3 per

second. How much time (in hours) will it

take to empty 
2

3
 part of the tank, if the

internal radius of the tank is 10.5 m?

ikuh ls Hkjh v¼Z xksyh; Vadh dks 7-7 eh3 izfr lsdaM
dh nj ls fdlh ikbi }kjk [kkyh fd;k tkrk gSA Vadh

ds 
2

3
 Hkkx dks [kkyh djus esa fdruk le; (?kaVs esa)

yxsxk] ;fn Vadh dh vkarfjd f=kT;k 10-5 ehVj gS\

(a)
185

6
(b)

175

3

(c)
185

3
(d)

175

2
90. Find the volume of a spherical shell whose

external and internal diameters are 14 cm
and 10 cm respectively.

,d xksykdkj [kksy dk vk;ru Kkr dhft;s ftldk
ckgjh vkSj vkarfjd O;kl Øe'k% 14 lseh vkSj 10
lseh gSA

(a) 42  cm3 (b)
872

3
  cm3

(c) 118 cm3 (d) 86 cm3

91. The volume of a hemisphere is 89.83 cm³.
Find its diameter (in cm).

,d vèkZxksys dk vk;ru 89-83 lseh3 gSA bldk O;kl
(lseh esa) Kkr dhft,A
(a) 3.5 (b) 7
(c) 14 (d) 10.5

92. If a solid sphere of radius 10 cm is moulded
into 8 spherical solid balls of equal radius,
then surface area of each ball (in sq.cm)
is ?

;fn 10 lsaVhehVj f=kT;k ds ,d Bksl xksys dks leku
f=kT;k dh 8 xksykdkj Bksl xsanks a esa <kyk tkrk gS]
rks çR;sd xsan dk lrg {ks=kiQy (oxZ lseh esa) gS\
(a) 100  (b) 101/
(c) 99 /12 (d) 54/13

93. A hemispherical bowl made of iron has
inner diameter 84 cm. Find the cost of
tin plating it on the inside at the rate of

Rs.21 per 100 cm² 
22

take =
7

 
 

 
 correct

to two places of decimal.

yksgs ls cus ,d v/Zxksyh; dVksjs dk vkarfjd O;kl

84 lseh gSA 21 #i;s çfr 100 lseh2 
22

=
7

yas 
 
 

dh nj ls n'keyo ds nks LFkkuks a rd vanj dh vksj
fVu p<+kus dh ykxr Kkr dhft,A

SSC CGL 02/12/2022 (Shift- 01)

(a) Rs.2,328.48 (b) Rs.2,425.48
(c) Rs.2,425.60 (d) Rs.2,355.48

94. A solid copper sphere of radius 9 cm is
hammered and moulded into a wire of
radius 2 cm. What is the length of this
wire?

9 cm f=kT;k okys rk¡cs ds Bksl xksys dks gFkkSMs+ ls
ihV&ihV dj 2 cm f=kT;k okyk rkj fu£er fd;k
tkrk gSA bl fu£er rkj dh yackbZ fdruh gS\

SSC CGL 03/12/2022 (Shift- 03)

(a) 224 cm (b) 183 cm
(c) 198 cm (d) 243 cm
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95. A solid hemisphere has radius 21 cm. It
is melted to form a cylinder such that the
ratio of its curved surface area to total
surface area is 2 : 5. What is the radius

(in cm) of its base 
22

take = ?
7

 
 

 

,d Bksl v/Zxksys dh f=kT;k 21 cm gSA bls fi?kykdj
,d ,slk csyu cuk;k tkrk gS fd blds oØ i`"Bh;
{ks=kiQy dk lEiw.kZ {ks=kiQYk ls vuqikr 2 % 5 gks
tkrk gSA blds vk/kj dh f=kT;k (cm esa) D;k

gS\
22

=
7

sa
 
  

y

SSC CGL 06/12/2022 (Shift- 01)

(a) 23 (b) 21
(c) 17 (d) 19

96. A cylindrical vessel of diameter 24 cm filled
up with sufficient quantity of water, a solid
spherical ball of radius 6 cm is completely
immersed. The increase in height of water
level is :

,d csyukdkj crZu ftldk O;kl 24 lseh gS i;kZIr
ikuh ls Hkjk gqvk gSA ,d Bksl xksykdkj xsan ftldh
f=kT;k 6 cm gS dks crZu esa iw.kZr% Mqcks;k tkrk gS rks
crZu esa ikuh dk Lrj  fdruk c<+ tk,xk \
(a) 1.5 cm (b) 2 cm
(c) 3 cm (d) 4.2 cm

97. Half of a large cylindrical tank open at the
top is filled with water and identical heavy
spherical balls are to be dropped into the
tank without spilling water out. If the
radius and the height of the tank are equal
and each is four times the radius of a ball,
then what is the maximum number of balls
that can be dropped ?

,d Åij ls •qyk csyukdkj VSad ikuh ls vk/k Hkjk
gSA ;fn mlesa ikuh ugha fxjus rd dqN leku xksykdkj
xsans Mky nh tk,A ;fn VSad dh f=kT;k vkSj Å¡pkbZ
cjkcj gks vkSj xksys dh f=kT;k dh pkj xquk gks rc
mu xsanksa dh la[;k Kkr dhft,A
(a) 12 (b) 24
(c) 36 (d) 48

98. The base of a solid right prism is a triangle
whose sides are 9 cm, 12 cm and 15 cm.
The height of the prism is 5 cm. Then,
the total surface area of the prism is

,d Bksl le fçTe dk vkèkkj ,d f=kHkqt gS ftldh
Hkqtk,¡ 9 lseh] 12 lseh vkSj 15 lseh gSaA fçTe dh
ÅapkbZ 5 lseh gSA fiQj] fçTe dk dqy lrg {ks=k gS
(a) 180 cm2 (b) 234 cm2

(c) 288 cm2 (d) 270 cm2

99. The base of a right prism is an equilateral
triangle of side 8 cm and height of the
prism is 10 cm. Then the volume of the
prism is

,d le fçTe dk vk/kj 8 lseh Hkqtk dk ,d leckgq
f=kHkqt gS vkSj fçTe dh ÅapkbZ 10 lseh gSA fiQj fçTe dk
vk;ru gS

10

8

(a) 320  cubic cm (b) 160 cubic cm

(c) 150 cubic cm (d) 300 cubic cm

100. The base of a right prism is a triangle

whose sides are 8 cm, 15 cm and 17 cm,

and its lateral surface area is 480 cm2.

What is the volume (in cm2) of the prism?

,d le fçTe dk vk/kj ,d f=kHkqt gS ftldh Hkqtk,¡
8 lseh] 15 lseh vkSj 17 lseh gSa] vkSj bldk ik'oZ
i`"Bh; {ks=kiQy 480 lseh2 gSA fçTe dk vk;ru (lseh3

esa) D;k gS\

SSC CGL MAINS 03/02/2022

(a) 540 (b) 600

(c) 720 (d) 640

101. A right prism has height 18 cm and its
base is a triangle with sides 5cm, 8cm and
12 cm. What is the lateral surface area (in
cm2) ?

,d yEc fçTe dh ÅapkbZ 18 lseh gS rFkk bldk vkèkkj
,d f=kHkqt gS ftldh Hkqtk,a 5 lseh] 8 lseh vkSj 12
lseh dh gSaA ik'oZ i`"B {ks=kiQy (oxZ lseh esa) Kkr
djsaA

SSC CGL TIER II (13/09/2019)

(a) 450 (b) 468

(c) 432 (d) 486

102. The base of a right prism is a square having
side of 15 cm. If its height is 8 cm, then
find the total surface area.

,d fçTe dk vk/kj ,d oxZ gksrk gS] tks 15 lseh dh
Hkqtk dk gSA ;fn bldh ÅapkbZ 8 lseh gS] rks dqy
lrg ds {ks=k dks Kkr djsaA

(CGL MAINS 18/10/2020)

(a) 920 cm2 (b) 930 cm2

(c) 900 cm2 (d) 940 cm2

103. Area of the base of a pyramid is 57 sq. cm.
and height is 10 cm, then its volume in cm3,
is

,d fijkfeM ds vkèkkj dk {ks=kiQy 57 oxZ lseh gS]
vkSj ÅapkbZ 10 lseh gS] rks bldk vk;ru lseh3 esa
gS
(a) 570 (b) 390
(c) 190 (d) 590
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104. There is a pyramid on a base which is a
regular hexagon of side 2a cm. If every

slant edge of this pyramid is of length 
5a

2

cm, then the volume of this pyramid is

,d vkèkkj ij ,d fijkfeM gS tks 2a lseh Hkqtk dk
,d fu;fer "kV~Hkqt gSA ;fn bl fijkfeM dk çR;sd

frjNk fdukjk yackbZ 
5a

2
lseh dk gS] rks bl fijkfeM

dk vk;ru gS

(a) 3a3 cm3 (b) 3 2  a3 cm3

(c) 3 3  a3 cm3 (d) 6a3 cm3

105. The base of a right pyramid is a square
of side 40 cm long. If the volume of the
pyramid is 8000 cm3, then its height is:

,d le fijkfeM dk vkèkkj 40 lseh yack Hkqtk
okyk ,d oxZ gSA ;fn fijkfeM dk vk;ru 8000
lseh3 gS] rks bldh Å¡pkbZ gS
(a) 5 cm (b) 10 cm

(c) 15 cm (d) 20 cm

106. The base of a regular pyramid is a square
and each of the other four sides is an
equilateral triangle, length of each side
being 20 cm. The vertical height of the
pyramid, in cm, is

,d fu;fer fijkfeM dk vkèkkj ,d oxZ gS vkSj vU;
pkj Hkqtkvksa esa ls çR;sd ,d leckgq f=kHkqt gS] çR;sd
Hkqtk dh yackbZ 20 lseh gSA lseh esa fijkfeM dh ÅèokZèkj
ÅapkbZ gS
(a) 10 (b) 8

(c) 12 (d) 5

107. The base of a right pyramid is an
equilateral triangle with side 8 cm, and the

height of pyramid is 24 3  cm. The volume

(in cm3) of the pyramid is :

,d y?kq fijkfeM dk vk/kj ,d leckgq f=kHkqt gS

ftldh Hkqtk 8 lseh dh gSA fijkfeM dh ÅapkbZ 24 3

lseh gSA bl fijkfeM dk vk;ru (?ku lseh esa) Kkr
djsaA

SSC CGL TIER II (12/09/2019)

(a) 1152 (b) 480

(c) 576 (d) 384

108. If the length of each side of a regular
tetrahedron is 18 cm, then the volume of
tetrahedron is:

;fn ,d fu;fer prq"iQyd dh izR;sd Hkqtk dh yackbZ
18 lseh gS] rks bl prq"iQyd dk vk;ru Kkr djsaA

(a) 486 2 cm³ (b) 324 2 cm³

(c) 324 3 cm³ (d) 284 3 cm³
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SOLUTIONSOLUTIONS
1. (a)

Volume of 3 cubes = volume of new cube

 3³ + 4³ + 5³ = 216 = 6³

a = 6

 Total surface area = 6 × (6)² = 216 cm²

2. (b)

Remaining wood = a³ – r²h

h = a, r = 
a

2

a³
 a³ – 

4
 

22
 a³ 1 –

28

 
  

  

6 12
 8 × = cm³

28 7


3. (d)

Surface area = 6 × 8² = 384 ft²

Quantity of paint required 
384

=
16

= 24 kg.

cost = 36.50 × 24  = Rs. 876

4. (c)

Given,

6a² = 24

a = 2 dm

We know 1 meter = 10 decimeter

No. of small cubes

volume of larger cube
=

volume of small cubes

3

3

10 1000
= =125

2 8

x = 125 cubes

5. (a)

A.T.Q,

36 × 75 × 80 = a³

 a = 60 cm.

6. (b)

We know,

Density 
mass

=
volume

 21

1 2

MM
 =

V V


400 3200

 =
4³ a³

 a³ = 8 × 4³ = 512

    a = 8 cm.

7. (c)

a³ = 1

 a = 1

Volume of 64 small cubes = 64 × 1 = 64 cm³

Volume of cuboid = l × b × h

Let, l = b = h = x (say)

 x³ = 64

 x = 4

 Diagonal 3 = 4 3 cm.= x

8. (b)

Let, volume of larger cube = 125cm³

Volume of one small cube = 1cm³

 side of one small cube = 1cm.

New cuboid has length = 125 × 1 = 125cm.

Bredth = 1cm.

Height = 1cm.

 S.A of cuboid = 2 (125 + 1 + 125)

= 502cm²

S.A of larger original cube = 6a² = 6 × 5²

= 150cm²

 Percentage increase

502 – 150 2
= 100 = 234 %

150 3


9. (a)

Surface area of open cistern

2h (l + b) + lb

 2 × 4 [12.5 + 8.5] + 12.5 × 8.5

= 168 + 106.25 = 274.25 cm²

Total cost of cementing = 24 × 274.25

= Rs. 6582
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10. (c)
Total surface area of cuboid = 2(lb + bh + hl )
= 2 (27 + 9 + 27) = 126 cm2

11. (b)
A.T.Q,

6 3

Given that,

3 a = 6 3 (here, a is the side of cube)

a = 6 cm
Length of cuboid (l ) = 18 cm
Height of cuboid (h) = 6 cm
Breadth of cuboid (b) = 6 cm
T.S.A of the cuboid = 2 (l b + bh + hl)
= 2 (18 × 6 + 6 × 6 + 18 × 6)
= 504 cm2

12. (c)
A.T.Q,

Given that,
a3 = 1728 (here, a is the side of cube)
a = 12
Length of cuboid (l)  = 24 cm
Breadth of cuboid(b) = 24 cm
Height of cuboid (h) = 12 cm
T.S.A of the cuboid = 2 (lb + bh + hl)
2 (576 + 288 + 288)
2304 cm3

13. (a)
A.T.Q,

a

Given that
2r = 5.6 (r is the radius of the sphere)
r = 2.8 cm
Volume of the sphere

34 4 22
r = ×

3 3 7
 × 2.8 × 2.8 × 2.8

= 91.98 cm3

14. (c)

² b²l  = 12

 l² + b² = 144 and ² b² h² = 15 l
 l² + b² + h² = 225

 h² = 225 – 144 = 81

 h = 9 m.

15. (d)

6 × 12 × 15 = n × a³

Side of largest possible cube (a)

= HCF (6, 12, 15) = 3

 6 × 12 × 15 = 3³ × n

 40 cubes possible

16. (c)

A.T.Q,

2 (l × b) = 2h (l + b)

lb = h (l + b)

15 × 12 = h (15 + 12)

180 20
 h = = m

27 3


Volume = l × b × h

= 15 × 12 × 
20

3
 = 1200 m³

17. (c)

No. of bricks 
volume of wall

s
=

volume of eac brickh

8 6 22.5
= 10,00,000

25 11.25 6

 


 
 = 6400

18. (b)

Let thickness = T

Then,

(330 – 10) × (260 – 10) × (110 – T) = 8000 ×
1000

= 320 × 250 × (110 – T) = 8000 × 1000

8000 1000
 110 – T  = 

320 250






 T = 10 cm. = 1 dm.

19. (a)

Volume of metal = Ext volume – Int volume

 (50 × 40 × 23) – (44 × 34 × 20)

= 16080 cm³

 Weight of metal 
16080 0.5

=
1000



= 8.04 kg.

20. (a)

Number of small box

= 
100×100×100

10×10×10
=1000
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21. (d)

Volume of tank = 200 × 150 × 2  = 60,000 m.

Length of water flow in 1 min.

20 1000
=

60

 1000
=

3

Volume of water per min.

1.5 1.25 1000
=

3

 

= 625 m³/min.

 Time required 60000
= = 96min.

625

22. (a)

Volume of empty box

= (24 × 16 × 10) – (23 × 15 × 9)

= 3840 – 3105 = 735 cm³

735 cm³  7.35 × 1000 g.

1 cm3  
7.35

735
 × 1000 = 10g

23. (d)

h

Volume of cube = volume of water rose

 11³ = 15 × 12 × h

 h = 7.39 cm.

24. (c)

By cutting the given cuboid, dimensions

of each part are:-

25cm. × 20cm. × 15cm.

T.S.A of each part = 2 (25 × 20 + 20 × 15

+ 15 × 25) = 2350 cm²

T.S.A of 8 parts = 8 × 2350 = 18800 cm²

25. (d)

Area of wet surface

= 2 [6 × 4 + 4 × 1.25 + 6 × 1.25] – (6 × 4)

= 2 [24 + 5 + 7.5] – 24

= 73 – 24 = 49 m²

26. (a)

12

6

40

14

A.T.Q,

12 × 6 × 5 = (40 × 14 – 12 × 6) × h

where, h = rise in level

 360 = 488 h

 
360

h =
488

m


360

 h = 
488

 × 100 = 73.77 cm.

27. (a)

A.T.Q,

15 × 15 × 4 = 20 × 25 × d


9

 d = m.
5

28. (c)

A.T.Q,

12 × 
3

10
× b × 1000 = 18000

b = 5 m

29. (d)

ATQ,

0.3 × 0.2 × 20 ×
5

18
× t = 200 × 150 × 8

t

3
= 240000

t = 720000

t  =
720000

3600
t = 200 hrs

30. (a)

ATQ,

Volume of cross section = volume of the
tank

0.05 × 0.03 × 16 × 25 × 60 = 15 × 12 × h

h = 0.2 m
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31. (d)

ATQ,

Side of cube = 5 cm

No. of cubes =
Volume of cuboid

Volume of cube

=
20 ×15×10

= 24
5× 5× 5

32. (a)

TSA. of the cuboid = 2 (lb + bh + hl)

= 2 (30 × 25 + 25 × 12 + 12 × 30) = 2820 cm2

Area which is painted = Total surface area
of cuboid × n

=
112800

= 40
2820

33. (a)

2 rh 2
=

2 r(h r) 3



 

h 2
 =
h r 3




Let, h = 2x, r = x

Now,

2r (h + r) = 924

22
 2 ×

7
  × x (3x) = 924

 x² = 49

 x = 7

Volume 
22

= 49 14
7

   = 2156 cm³

34. (a)

1 1

2 2

r h3 4
= , =

r 5 h 3

2
1 1

2
2 2

r h 9 4 36 12
 = = =

25 3 75 25r h


 



35. (c)

Given,

1
r²h = 15L

3


 r²h = 15 × 3

        = 45 L

 Cylinder can carry = 45 L milk

36. (d)

A.T.Q,

r
1
²h

1
 = 

4

3
 r

2
3 × n

Given, r
1
 = h

1
,

1
2

r
r =

2

From (1)

3

3 1
1

r 4
 r = n

2 3

 
    
 

 

3
3 1
1

r 4
r = n

8 3
 

 n = 6

37. (a)

Let, r
1
 = 4

 r
2
 = 5

             Old        New

Radius    4            5

Volume   1            1

     r²     16           25

1 1
    h                

16 25

    h      25            16

 % Change in height 
25 – 16

= 100
25

 =

36%

38. (a)

r = 7, h = 21

A.T.Q,

1.4
3.5

2.1

 × 7² × 21 = n × 
2 3
2 2

2
r h r

3

 
    
 

 7² × 21 = n [(2.1)² × 1.4 + 
2

3
× (2.1)³]

 7² × 21 = n × (2.1)² [1.4 + 1.4]

49 21
 = n
2.1 2.1 2.8




 

 n = 83
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39. (d)

6

h

5

Let, h = water raised
Volume of sphere = Volume of water raised.

4
 
3

  r
1
3 = r

2
2 h

4
 
3

  × 125 = 36 × h

125
 h = = 4.63cm.

27


40. (b)

15

14

r
1
 of smaller cylinder 

1

28 7
= = ,h = 5

8 2
Total surface area of remaining part
= TSA. of  big solid cylinder + CSA. of all
small cylinders

= 2 ×
22

7
× 14 (29) + 8 × 2 ×

22

7
×

7

2
× 5

= (88 × 29 + 40 × 22)
= 3432

41. (a)

V = R²h – r²h

22
=

7
 × 210 (25² – 23²)

= 660 (96) = 63360 cm³

42. (a)

21

7

Volume of earth taken out = r²h

22
=

7
× 7 × 7 × 15  = 2310m³

A.T.Q,

22
=

7
 [28² – 7²] × h = 2310

 h = 1m.
43. (d)

         r       h        Volume

Old    1       2            2

New   2       1            4

%Change 
4 – 2

= 100
2

 = 100%

44. (b)
Quantity of water


 

22 0.08 0.08
= 3500

7 4
= 17.6 m³

45. (c)
A.T.Q,

10 × 10 × 10 
22

=
7

× 10 × 10 × h

 
70 4 2

 h = = 3 3 cm.
22 22 11

46. (a)

2r = 8.8 and 2rh = 17.6


17.6

 h = = 2
8.8





8.8 7
r = = 1.4

22 2
Amount of concrete required

 r²h 
22

=
7

 × 1.4 × 1.4 × 2 = 12.32m³

47. (d)



           Old        New

    r        4           1

    r²      16          1

    v        1           1

 h        1         16

 The length will become 16 times.
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48. (a)

1 1

2 2

h r3 6
=  ;  =

h 2 r 7





1 1

2 2

2 r h 6 3 9
= =

2 r h 7 2 7

49. (b)

2rh = 1000cm²

Times of wire = n

for n turns, wire should make upto 5n mm
or 0.005n m height.

 Height of cylinder = 0.005n m

Let length of wire be l

 l = 2 × r × n

n

l
= 2 × r

 1000 = 0.1m² = 2 × r × h

0.1 = 
l

n
 × 0.005n

0.1
 = = 20m.

0.005
 l

50. (b)

h

R
r

1
 = inner radius = 2

R
1
 = outer radius = 3

height = 10cm.

T.S.A = 2Rh + 2rh + 2 (R² – r²)

= 2h (R + r) + 2 (R – r) (R + r)

= 2 (R + r) [h + R – r]

= 2× 5(10+1) = 110

51. (d)

35
r =

2

v = 11 ltr. = 11000cm³

 11000 
 
   
 

2
22 35

= h
7 2


80 3

 h = = 11 cm.
7 7

52. (a)
2r (h + r) = 462 ..........(1)


462

2 rh =
3

..........(2)

(1) ÷ (2)




h r 3
 =

h 1
 h = a, r = 2a
From (2)


22

2
7

× 2a × a = 
462

3
= 154






7 7
 a² = 

2 2


7

 a = 
2

 r = 2 × 
7

2
 = 7cm.

53. (a)

h = 7cm, r 5 1
= = cm.

20 4

volume of ink   
22 1 1

= 7
7 4 4

 
11

= cm³
8

11

8
cm3  330 words

We know,

1

5
ltr. = 200 cm3


330

11
× 8 × 200 = 48,000 words

54. (a)
v

1
 + v

2
 = v

3

(15² × 35 + 10² × 15) = r² × 15
 7875 + 1500 = 15r²
 r² = 625
 r = 25cm.

55. (c)
A.T.Q.
= 2rh + 2r (h + r) = 2068
 2r (2h + r) = 2068

 2 ×
22

7
 × 7 (2h + 7) = 2068

 h = 20

Volume = r2h = 
22

7
× 7 × 7 × 20

= 3080 cm3

56.(d)
2r = 37 + r


44

– 1
7

 
 
 

r = 37

r = 7, h = 35
 Volume = r²h

= 
22

7
 × 7 × 7 × 35 = 5390 cm³
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57. (b)
A.T.Q,
r2h = lbh

22

7
× 2.8 × 2.8 × 15 = 8 × 1.5 × l

l = 30.8 m
58. (d)

A.T.Q

According to figure
Radius of cylinder = Radius of sphere

r2h =
34

r
3


h =
4

× 3.5
3

h =
14

cm
3

59. (c)

5

12

13



r 5
=

h 12
 l = 13             [Pythagorean triplet]
Also,

1 2 2200
r²h = 314 =

3 7 7


1 22 2200
 5 5 12 ³ =
3 7 7

     x

 x³ = 1
 x = 1
 l = 13 m.

60. (d)

rl =
22

7
× 14 × l

l = h² r² = 48² 14²  = 50

Also,


22

7
× 14 × 50 = 10 × length of cloth

 Length = 220 m.

61. (d)

96

100
× r

1
2 =  r

2 
l

96

100
 × 25 × 25 = r

2
 × l

  600 = r
2
 × l

Also, we know, l = r
1
 = 25

 = r
2
 = 24

Hence,  
2h = 25² – 24²

  = 7

2

2

r 24
 =
h 7



62. (b)

6
0
°

A

B C

30° l

Since, AB = AC and BAC = 60°
 ABC is an equilateral 
Hence, l = 2r

r r 1
 = =

2r 2


l
63. (a)

Volume 
1

= r²h
3


1 22
=

3 7
  × 12 × 12 × 35 = 5280 cm³

Rate of water flow = 5m/min.

5 100
= cm/sec.

60



25
= cm/sec.

3

Radius of cylinder pipe 16 1
= = 0.8cm.

2 10


Volumeof cone
 Time = 

ar. o rf R cylinder × ate of wate


–1 –1

5280
= = 315sec.

22 25
8 10 8 10

7 3
    
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64. (b)

h
1
 = 36, r

1
 = r

2
 = 9, h

2
 = 9

% Waste 
2 2
1 1 2 2

2
1 1

r h – r h1
= 100

13 r h
3

 




 
        
  

2 1 2
1

2
1

1

1
h – h

r 33 100 = 100 = 25%
1 12r h
3

65. (a)

A.T.Q,

5
4

3

4

3

5

r = 3

h = 4

Volume 
1 22

=
3 7

 × 3 × 3 × 4 = 12

66. (a)

8

5

n × Volume of 1 sphere 
25

=
100

 × volume of

cone

3
4 1 1 1

 n× = 5 5 8
3 2 4 3

 
       
 

1 8 8
 n = 25 = 100

4 4


  

67. (d)

r
h

H

R

Volume of small cone r²h
=

Volume of large cone R²H

2 2
h = H      r = R

3 3


Hence,

4 2
R² H

r²h 9 3=
R²H R²H



Vol. small 8
=

Vol. large 27


Vol. small cone 8 8

= =
Vol. large frustum 27 – 8 19

68. (d)

r
H–h

36 = H

6

h

We know,

6 36
=

r 36 – h
   36 – h = 6r

 h = 36 – 6r

 h = 6 (6 – r)

Vol. of frustum 
1

=
3
 [R² + r² + Rr]h

1
=

3
 [6² + r² + 6r] [6 – r]6

22
264 = 2 [6³ – r³]

7


42 = 6³ – r³

r³ = 216 – 42

r³ = 174

1

3r = (174) cm.
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69. (d)

1 22
Volume = 7 7 15

3 7
   

= 770 cm³

Weight of vessel = 770 × 15

= 11550 g.

= 11.55 kg.

70. (a)

   
22

rl = 21 21² 20²
7

= 66 × 29

  
22

r² = 21 21
7

T.S.A = 66 × 29 + 66 × 21

= 66 × 50 = 3300

71. (c)

 × 3 × 3 × 5 = n ×   
1 1 1

1
3 10 10

 n = 13500

72. (a)

h
2
 = 30 cm.   

v2

v1

h2

h1

We know,

1 1

2 2

v (h )³
=

v (h )³


3

1h1
 =
27 (30)³

 1h 1
 =
30 3

h
1
 = 10

 h
2
 – h

1
 = 20cm.

73. (d)

h = 10.5, r = 6.5


1 22

v =
3 7

× 6.5 × 6.5 × 10.5   = 464.33 m²

Avg. no. of cubic meters of air space per
man

Volume
=

8

464.33
= = 58.04

8
 

3
= 58 m³

32

74. (a)

r
1
 = 10,  h

1
 = 72cm

r
2
 = 30, h

2
 = ?

A.T.Q,

1

3
 × 10 × 10 × 72 =  × 30 × 30 × h

2

2

2
 h  = 2 cm

3


75. (b)

1

3
r²h = 1232,  h = 24

 




1232 3 7
 r² = = 49

22 24

 r = 7

l = 7² 24² = 25

C.S.A = rl 
22

=
7

× 7 × 25 = 550cm²

76. (c)

Radius of sector = slant height of cone

  = h² r² = 6² 8² =10cm.  l

77. (b)

  
3

120°

Length of sector = circumference of base of
cone






120
 
360

× 2 (3) = 2r

 r = 1cm.

l of cone = r of sector

 l = 3cm.

 h = ² – r² = 3² – 1² = 2 2 l

1
v =

3
 r²h = 

1

3
 ×  × (1)² ×

2 2
2 2

= cm³
3
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78. (b)

v1

v1

v2

h –h2 1

 1

2

v 1
 =
v 2

We know,

1 1

2 2

v (h )³
=

v (h )³

1

1/3
2

h1
=

h(2)

1

1/3
2 1

h 1
 =
h – h (2) – 1



79. (c)

h = 8cm, r = 6cm.

A.T.Q,

1

3
 × 6 × 6 × 8 = n × 

1

3
 × 2 × 1 × 1

 n = 144

80. (a)

r = 6, R = 14, h = 6

l = h² (R – r)²

   = 36 64 = 10

T.S.A = l (R + r) +  (r2 + r2)


22

7
× 10 (20) +

22

7
(196 + 36)


22

7
(200 +232)


22

7
(432) = 432

81. (d)

r = 16,

rl = 427
3

7


22

7
× 16 × l = 

2992

7

  l =
187

22
= 8.5 m

82. (a)

144°

30cm.

Circumference of base of cone = length of

arc

2R =
360


× 2r

 R=
144

360
× 30 = 12cm.

83. (c)

h1

h2

h
2
 = 20 

1

2

v 1
=

v 8
We know,

1 1

2 2

v h ³
=

v h ³

  
1

2

h ³1
=

8 h ³

 1h1
 =
2 20

 h
1
 = 10

 height of frustum = 20 – 10 = 10cm.
84. (d)

h1

h2

h
2
 = 40cm.

We know,
3

1 1

3
2 2

v h
=

v h


3

1

3

h1
 =
64 40
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 1h 1
 =
40 4

   h
1
 = 10

height of frustum = 40 – 10 = 30 cm.

85. (c)

1

3
 × r2h = 400

Consider,

1

3
×  × (2r)2 × h = 

1

3
r2h × 4 = 400 × 4

= 1600

86. (d)

A.T.Q,

91

Given that,

rl = 10010

22

7
× 91 × r = 10010

r = 35

T.S.A of the cone = r(r + l)

22

7
× 35 (126) = 13860 cm2

87. (b)

A.T.Q,

4 22

3 7
 × 6 × 6 × 6 =

4 22

3 7
 [33 + 43 +x3]

 6³ = 3³ + 4³ + x³

 x = 5 cm.

88. (c)

1×n

3

6

A.T.Q,

2

3
×  × (6)³ =  (3)² × 1 × n

2 6 6
n = 6

3 3 3
  

n = 16

89. (b)

A.T.Q,

7.7 × t =
32 2

× r
3 3



7.7 × t =
2 22

×
3 7

× 10.5 × 10.5 × 10.5 × 
2

3

t =
175

hrs
3

90. (b)

4 4
V = R³ – r³

3 3
 

3 3
4 22 14 10

= –
3 7 2 2

                 

4
= [218]

3
  

3872
= cm

3


91. (b)

A.T.Q,

2 22

3 7
  × r³ = 89.83

 r  3.5

 d = 7 cm.

92. (a)

A.T.Q,

4 4
10³ = 8 r³

3 3
  

3
10

 r³ = = (5)³
2

 
   
 

 r = 5 cm.

S.A = 4r² = 4 ×  × 5 × 5  = 100

93. (a)

L.S.A = 2r² 
22

= 2 42 42
7

    = 11088 cm²

Rate = 21 per 100 cm²

T. Price = 110.88 × 21 = Rs. 2328.48

94. (d)

ATQ,

4 22 22
9 9 9 = (2)²

3 7 7
l     

 l = 81 × 3 = 243 cm
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95. (b)
r = 21

2
1

2
 r³ = r h
3

  

2
1

2
(21)³ = r h

3


.........(1)

1

1 1 1

2 r hC.S.A h 2
= = =

T.S.A 2 r (h r ) h r 5



  

h = 2x  r
1
 = 3x   .......(2)

Put (2) in (1)

2

3
 × 21 × 21 × 21 = 9x² × 2x

 x³ = 7 × 7 × 7
 x = 7
r = 3 × 7 = 21

96. (b)

r

h

R
We know,
volume of sphere = volume of water rose


4

 
3
r³ = R²h


4

 
3

× 6³ = 12 × 12 × h

 h = 2cm.
97. (b)

Radius of ball = r
 Radius of cylinder = 4r, height = 4r

Vol of water in cylindrical tank =  (4r)² × 2r

= 32r³
Let, n = max. no. of balls.
A.T.Q,

 
4

n r³
3

= 32r³

n = 24
98. (c)

9

15

12

5

T.S.A = (perimeter of base × h) + 2 ×Ar of base

= (9 + 12 + 15) 5 + 2 × 
1

2
 × 9 × 12

= 180 + 108 = 288 cm²

99. (b)

10

8
V = ar. of base × h

3
=

4
 × 8 × 8 × 10

= 160 3 cm³
100. (c)

L.S.A of a prism
Perimeter of the base × height
40h = 480
h = 12 cm
Volume of prism = area of base × height

=
1

2
× 15 × 8 × 12 = 720 cm3

101. (a)
L.S.A of a prism = Perimeter of the base ×
height
= (5 + 8 + 12)18 = 450 cm2

102. (b)
We know
T.S.A of a prism = Perimeter of the base ×
height + 2 × area of base
= 60 × 8 + 2 × 225
= 480 + 450
= 930 cm2

103. (c)

Volume = 
1

3
 × Ar. of base × h

1
= 57 10

3
   = 190 cm³

104. (c)

e =
5a

2

We know,

2
5a

h² = – (2a)²
2

 
  
 

3
 h = a

2

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2a

Volume 
1

= 
3

 × ar. of base × h

1 3 3a
= 6 4a²

3 4 2
     = 3 3a³ cm³

105. (c)

40

1
V =

3
 × ar. of base × h

8,000 
1

=
3

 × 40 × 40 × h

 h = 15 cm.

106. (a)

a

a

A

B
c
a =

 2
0

A.T.Q,

l = slant height 
3a

=
2

  
3

= 20
2

  = 10 3

Now, in ABC:-

BC = 10, AC = 10 3

 h = AB = AC² – BC²

 = 300 – 100  = 200

 h = 10 2

107. (a)
We know,

Volume of a pyramid =
1

3
area of base ×

height of pyramid

= 
1

3
×

3

4
× 8 × 8 ×24 3

= 1152 cm3

108. (a)
We know,

Volume of tetrahedron =

3a

6 2

=
18×18×18

= 486 2 
6 2

cm3
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